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Multiple Choice Questions:  2 points each.

_____   1.  A financial managers goal of maximizing current or short term earnings may
                           

                  not be appropriate because

A) It fails to consider the timing of the benefits

B) Increased earnings may be accompanied by unacceptably higher levels

of risk.

C) Earnings are subjective; they can be defined in various ways such as

accounting or economic earnings

D) All of the above.               

_____   2.  A firm with earnings per share of $5 and a price-earnings ratio of 15 will


      have a stock price of:          

A) $20.00               

B) $75.00            

C) $3.00             

D) the market assigns a stock price independent of EPS and the P/E ratio.

_____   3.  A firm has current assets of $75,000 and total assets of $ 375,000.  The firm’s


      sales are $900,000.  The firm’s fixed asset turnover is:              

A) 3.0 x

B) 12.0 x

C) 2.4 x

D) 5.0 x

_____   4.  Pro forma financial statements are:                 

A) the most comprehensive means of financial forecasting.

B) Often required by prospective creditors

C) Projections of financial statements for a future period.                     

D) All of the above.                           

_____   5.  Heavy use of long term debt may be beneficial in an inflationary economy

                   because:

A) The debt may be repaid in more `expensive’ dollars.

B) Nominal interest rates exceed real interest rates

C) Inflation is associated with the peak of a business cycle

D) The debt may be repaid in `cheaper’ dollars.    

_____   6.  Some analysts believe that the term structure of interest rates is determined by


      the behavior of various types of financial institutions.  This theory is called

A) The expectations hypothesis

B) The segmentation theory

C) The liquidity premium theory

D) The theory of industry supply and demand for bonds.

_____   7.  Capital markets do not include which of the following securities:

A) Common stock.                                                    

B) Commercial paper. 

C) Government bonds  

D) Preferred stock.

_____   8.  Total stockholder’s equity consists of:        

A) Preferred stock and common stock      

B) Common stock and retained earnings.     

C) Common stock and capital paid in excess of par

D) Preferred stock, common stock, capital paid in excess of par and retained

Earnings.

_____   9.  The Bubba Corp. had net income before taxes of $200,000 and sales of

                  $2,000,000.  If it is in the 50% tax bracket, its after-tax profit margin is:

A) 5 %                                              

B) 12 % 

C) 20 % 

D) 25 %

_____  10. A firm’s purchase of plant and equipment would be considered a:             

A) use of cash for financing activities

B) use of cash for operating activities

C) source of cash for investment activities

D) use of cash for investment activities.

_____  11. Which of the following is not a primary source of capital to the firm?

A) assets

B) common stock

C) preferred stock

D) bonds

_____ 12.  Which of the following is not an asset utilization ratio?

A) inventory turnover

B) return on assets

C) fixed asset turnover

D) average collection period

_____ 13.  A firm has forecasted sales of $4,000 in January, $6,000 in February and 

                  $5,500 in March.  All sales are on credit.  40% is collected the month of the


      sale and the remainder the following month.  How much is collected from


      accounts receivable in February?

A) $5,400

B) $4,000

C) $6,000

D) $3,000

_____ 14.  Which of the following is concerned with the change in operating profit

                  as a result of a change in volume?

A) financial leverage

B) break-even point

C) operating leverage

D) combined leverage

_____ 15.  The term structure of interest rates is influenced by

A) inflation

B) money supply

C) Federal Reserve activities

D) All of the above are true

_____ 16.  The concept of operating leverage involves the use of __?__ to magnify


      returns at high levels of operation.

A) fixed costs

B) variable costs

C) marginal costs

D) semi-variable costs

_____ 17.  Pressure for current asset buildup often results from

A) decline in sales growth

B) rapidly expanding sales

C) increased demands of short-term creditors

D) none of the above.

_____ 18.  Money markets would include which of the following securities?

A) common stock and corporate bonds

B) treasury bills and commercial paper

C) certificates of deposit and preferred stock

D) all of the above.

_____ 19.  Depreciation tends to:

A) increase cash flow and decrease income

B) decrease cash flow and increase income

C) affect only cash flow

D) affect only income

_____ 20.  Which of the following is not considered to be a profitability ratio?

A) profit margin

B) times interest earned

C) return on equity

D) return on assets

_____ 21.  Some analysts believe that the term structure of interest rates is determined


      by the behavior of various types of financial institutions.  This theory is


      called the:

A) expectations hypothesis

B) segmentation theory

C) liquidity premium theory

D) theory of industry supply and demand for bonds.

_____ 22.  If a firm has fixed costs of $30,000, a price of $4.00, and a breakeven point


      of 15,000 units, the variable cost per unit is:

A) $5.00

B) $2.00

C) 50 cents

D) $4.00

_____ 23.  The pro forma income statement is important to the overall process of


      constructing pro forma statements because it allows us to determine a value


      for:

A) change in retained earnings

B) gross profit

C) interest expense

D) prepaid expenses

_____ 24.  A firm’s purchase of plant and equipment would be considered a

A) use of cash for financing activities

B) use of cash for operating activities

C) source of cash for investment activities

D) use of cash for investment activities.

_____ 25.  Which of the following would represent a use of funds and, indirectly, a


       reduction in cash balances?

A) an increase in inventories

B) a decrease in marketable securities

C) an increase in accounts payable

D) the sale of new bonds by the firm

Problem 1:  16 points:

Complete the 2000 balance sheet based on the information provided below.

Cash:  …………………… $     30,000                   Accounts Payable………. $   120,000

Mkt. Securities…………..         25,000                   Notes Payable……………_________

Accounts Receivable…… __________                   Accruals:                                  20,000

Inventories ……………..  __________                       Total C.L. …………… _________

    Total C.A.                      __________                   L.T. Debt……………….  _________

Net Fixed assets                 __________                   Stkhldrs Equity…………      600,000

    Total Assets:                  ___________                 Total Debt + equity…….   _________

Sales totaled $1,800,000

Gross Profit margin is 25%

Inventory turnover is 6x

There are 360 days in the year

The average collection period is 40 days

The current ratio is 1.60:1

Total asset turnover is 1.20x

The debt ratio is 60%

Problem 2:  12 points

Assume a firm has a current ratio that is greater than 1:1.  Indicate the change in that ratio that will result from the following transactions.

Transaction:                                              C.R. increases       C.R. Decreases     No Change

1. Raw materials purchased for cash:           ________              _________          _______

2. Accts. Payable paid with cash:                 ________              _________          _______

3. New vehicle purchased for cash:               ________             _________          _______

4.  Dividend paid in cash:                               ________             _________          _______

5.  Bank line of credit (short term)

     coverted to long term note:                       ________             _________          _______

6.  Company sells stock; ½ of

     proceeds used to pay long term debt:        ________             _________         ________

Problem 3: 12 Points

Cash Budget

Grenoble Enterprise had sales of $50,000 in March and $60,000 in April.  Forecasted sales for May, June, and July are $70,000, $80,000, and $100,000, respectively.  The firm has a cash balance of $5,000 on May 1 and wishes to keep that as a minimum balance.  Given the following, prepare a cash budget for the months of May and June only.

1. The firm makes 20% of its sales for cash, 60% are collected in the next month and the remaining 20% in the second month following the sale.

2. The firm receives other income of $2,000 per month.

3. The firm’s actual or expected purchases, all are for cash, are $50,000, $70,000, and $80,000 for May, June, and July, respectively.

4. Rent is $3,000 per month

5. Depreciation is $2,000 per month

6. Wages and salaries are 10% of the previous month’s sales.

7. A cash dividend of $3,000 will be paid in June.

8. Payment of principle and interest of $4,000 is due in June.

9. Taxes of $6,000 are due in June.

Problem 4:  10 points

Break-even analysis:

Heister Corporation produces class rings to sell to college and high school students.  These rings sell for $75 each and cost $35 each to produce.   Heister has fixed costs of $50,000.

     a)   What is Heister Corporation’s break-even point?  __________________

    b)   If Heister can sell 8,000 rings, what will be its profit or loss?

